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TOEFL Quiz Two:151-300
Part One: Choose which answer is most similar in meaning to the word in bold.

1. regime  A. condor B. government C. commander D. cavity  

2.  rescue   A. spread  B. save   C. reside D. leave alone

3.  regurgitate A. throw back B. pick on   C. hand out    D. draw into

4. remote    A. centrality   B. novelty C. remarkableness  D. outback 

5. renown       A. absorbed   B. famous   C. religious D. latest

6. rent     A. insist   B. tear   C. act D. leave  

7.  resolve   A. rotate  B. settle    C. find  D. reinforce 

8. rehearse A. consider B. hold C. practice D. treat

9. remedy A. treatment   B. reminder C. dust D. discussion

10. replete  A. incomplete   B. full    C. diminished D. indirect

11.  renaissance A. successful   B. revival   C. certain D. accomplished

12.  reservoir    A. mountain B. tree C. snowflake D. lake

13. sentinel A. prospector B. capacity  C. spotter   D. strike

14.  scatter   A. appeal  B. disperse   C. feed D. sequence

15. rough  A. uneven   B. eastern C. important   D. suicidal

Part Two: Choose which answer is opposite in meaning to the word in bold.

16.  sanction    A. protect   B. adhere  C. disapprove D. revise  

17.  scarce A. ample    B. intense   C. human D. original  

18.  revere  A. examine B. respect C. esteem D. loathe 

19.  sabotage A. weaken    B.  speak C. build D. protect

20.  secular    A. religion   B. launch C. sediment    D. water

21.  retarded   A. advanced   B. amended   C. branded   D. given

22.  repulsion A. attraction   B. surrounding    C. civilization    D. body

23. remarkable    A. striking B. regulated C. incredible   D. ordinary

24.  rubbish A. refuse   B. treasure   C. garbage D. food
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25. safeguard A.  protect   B. sign C. contract    D. expose

26.  rigid A. stiff B. stony  C. flexible D. valid

27.  rush A. expedite B. delay C. transport    D. forage

28.  seek out   A. lose   B. devise    C. outline   D. affect

29. selective A. distinct   B. random C. waterproof D.  impossible

30.    rural   A. urban    B. country   C. uncivilized D. noticeable

Part Three:  Complete each sentence below with the most suitable word from the four answer choices.

31. Another group doesn't want to risk                   while perhaps another group just doesn't care one way or the other.
A. repercussions  B. rendering C. remnants D. repetitions

32.   It is now known that Mercury rotates three times in two of its years. Mercury is the only body in the solar system 
known to have an orbital/rotational                   with a ratio other than 1:1.

A. retract    B. respect  C. resonance D. repetition

33. In-marriage also has the effect of                   property within family lines, especially where women are allowed to 
inherit.
  A. resume   B. residing  C. retaining   D. respiring

34.  X-rays differentiate between bone and air, hence                   the liver, the pancreas and certain other organs 
invisible.
  A. rendering   B. rehabilitating    C. relating   D. retinue

35.  In 1971, she wrote the original screenplay and musical                   for the film Georgia, Georgia, and was both 
author and executive producer of a five-part television miniseries "Three Way Choice."
 A. scrabble B. score C. scenario D. scarecrow

36.   Muscular contractions cause a                   -like movement that carries the contents down the small intestine - 
somewhat like a conveyor belt.
 A. rim B. risk C. ritual  D. ripple

37.  Resellers intent on building a steady                   stream continue to fill backrooms with assembly tools, components 
and test gear to turn out house-branded computer equipment. 
 A. rounding B. retrieval  C. revenue D. reversal  

38.  Cardiac                   professionals find themselves increasingly drawn into discussions about healthcare reform, 
particularly when it relates to cost-containment. 
 A. rehabilitation B. relativity   C. region  D. regulation  

39. The rover,  Opportunity,  and its  sister  rover,  Spirit,  which was launched earlier this  month,  will  act as robotic 
geologists during their three months of exploration. They will send back images of                   and mineral deposits that can 
help scientists determine whether there was ever enough water on Mars to sustain life.

A. secretion  B. segregation C. sediment D. procurement
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40.  Their eruptions are typically characterized by the relatively quiet outflow of very fluid lava and by sometimes 
_____________lava fountains. 
 A. spectrum B. speedily C. specialized  D. spectacular

41.   In cores from Antarctica and Greenland, researchers have pinpointed the beginning of atomic-bomb testing in the 
mid-1950s. They have also identified a                   representing fallout from stepped-up atmospheric testing that took place 
just prior to the 1963 Test Ban Treaty, which allowed for underground tests only.

A. spec  B. specification C. speck D. spike

42.  Face refers to the respect that an individual has for him or herself, and maintaining                   in public or in 
private situations. 

A. sensation B. self-esteem C. serendipity D. solemnness  

43.  Check the meaning of unfamiliar words if they seem to be key words. In that case, if the author uses them more 
than once,                   a brief definition at the bottom of the page or at the end of the essay.
  A. sear B. scrutinize C. scribble D. secrete

44.  Cognitive Psychology is concerned with mental processes and their effects on human behavior and focuses on 
phenomena such as                   , perception, motor control, attention, memory, learning, language, reasoning, problem 
solving, and decision making.
 A. settlement  B. segregation C. sensation  D. severity

45.  Born in Atlanta on January 15, 1929, King's                   were in the African-American Baptist church.
 A. roots B. rotations C. routes D. riptides

46.  It would seem socially unacceptable if the phrases above were                   .
 A. rewrite   B. reversed C. revise   D. retinue

47.  It is now known that Mercury                   three times in two of its years.
 A. ritualizes  B. rotates C. reviews   D. routines 

48.  Grapevine Canyon is one of the three eastern exit                   from the Valley, and the location of Scotty's Castle.
 A. rubbles  B. rivets  C. routes D. rules

49.  The volcanic                   in Hawaii is fertile, and the warm climate makes it possible to grow crops all year around. 
A. soil B. solder C. sodomy D. soothsayer

50.     Over the past 30 years, same-sex couples have sought                   recognition of their families.
 A. societal B. smashing C. sociology D. soothing

Part Four:  Complete each sentence using the correct word form.

51.  A brief description of the invention, planning and drafting, middle draft peer review, final draft, and
_______________final draft stages will be explained by various students whom I have asked to speak today.
 A. revise B. revision  C. revised  D. revises

52.  The Moon's axis of                   is nearly perpendicular to the plane of its orbit around the Sun, so the Sun always 
appears at or near the horizon in the polar regions of the Moon.

A. rotate B. rotation C. rotated D. rotates

53.    It is here that the final process of digestion and nutrient absorption takes place from the two gallons of food, liquid 
and digestive                   processed each day.
 A.  secrete   B. secreted  C. secretions  D. secretes  
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54.  Even though only a                   of digital programming is currently available, digital televisions will eventually 
become the norm, as surely as color replaced black-and-white. 
 A. smatters  B. smattering  C. smatterings   D. smattered 

55.  On December 5, 1955, five days after Montgomery civil rights activist Rosa Parks refused to obey the city's rules 
mandating                   on buses, black residents launched a bus boycott.
 A. segregate B. segregation  C. segregated  D. segregates  

56.    The neutron star continues to                   until it finally becomes a black hole.
A. shrink   B. shrinkage  C. shrinks  D. shrunk  

57. Temperature variations on Mercury are the most extreme in the solar system ranging from 90 K to 700 K. The 
temperature on Venus is                   hotter but very stable.

A. slight   B. slightly   C. slighted   D. slighting

58.  Pavlov noticed that the dogs in his laboratory                   not only when they ate their food, but also before they 
had taken a bite.

A. salivation   B. salivate   C. salivated  D. salivates  

59. After this incident, the colonists decided to return to Greenland rather than                   in Vinland.
A. settlement   B. settles   C. settle   D. settled  

60.  One  should  look  for  an  entry-level  job,  gain  experience  through internships,  and  watch  for  opportunities  of 
____________training or advanced education.

A. specialization  B. specialize   C. specialized  D. specializes
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